Which idea is supported by the authors of both
passages?

A) The primary goal of education is to ensure
skill and efficiency.

B) Itis possible to find fulfillment in a wide
range of occupations.

C) Formal education should be reserved for
only the most talented students.

D) Individuals can most effectively improve
their lives through education.

Which statement identifies a central conflict
between the two passages?

A) Washington proposes a broad system of
education, while DuBois rejects that approach
as impractical.

B) Washington adopts an international perspective,
while DuBois focuses on domestic interests.

C) Washington focuses on improving the prospects
of a group as a whole, while DuBois advocates
advocates the elevation of a narrow elite.

D) Washington describes the nature of a problem,
while DuBois emphasizes a possible solution.

DuBois in Passage 2 would most likely have
responded to lines 29-30 (“It is...top”) of
Passage 1 with

A) appreciation, because citizens of a democracy
should not have to demonstrate their loyalty.

B) sympathy, because citizens of a democracy
should play an active role in their communities.

C) disagreement, because true freedom cannot be
attained without education.

D) skepticism, because it ignores the capabilities
of certain individuals.
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Based on Passage 1, Washington would most likely
characterize the viewpoint described by DuBois in
lines 78-85 of Passage 2 (“the first...equipped”) as

A) economically impractical.
B) generally persuasive.

C) overly ambitious.

D) beyond reproach.



